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No. 69 B+ 50m BH A4 LL—RRE KRG 29.15
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1 10 AE EPANG -} /NG 4/ 6 32. 24 9% ( 0.75)
2 fHM KSR Dy R E /N5 4/ 3 32. 64 8#% ( 0.62)
3 EH  fEt PWHIFES S /NG 3/ 4 32.72 8f% ( 0.68)
4 hH &K= WHITFES S ! 4/ 2 32.74 9%% ( 0.63)
5 HEA  VEFH DR TANS .k /NG 4/ 1 32.93 8#% ( 0.68)
6 TH AE JES S /N4 4/ 7 32.98 9% (0.77)
7 BEE ﬁaﬁ o H—S S /N 4/ 8 33.26 9%% ( 0.66)
8 fHEH & D AN/ N /NG 3/ 6 33.57 8% ( 0.85)
9 Hilf HBE EPANG -} /NG 3/ 5 33.63 8f% ( 0.66)
10 fER% 5, Ty N ER /N 3/ 1 34. 06 9%k (0.64)
11 &KH K Ty N =K /N4 2/ 5 34.13 9%k ( 0.67)
12 45%% FH DEPAVS K-} /N4 3/ 3 34.15 9%% ( 0.67)
13 [ Bk e PANVG - /NG 2/ 4 34.17 7% (0.62)
14 A4t Bt JiES S ! 3/ 2 34.76 8 (0.79)
15 * o] Fjze X —SS /N4 2/ 2 34. 84 8#% (0.70)
16 faiH &3 AN /N /N4 2/ 3 35.15 8tk ( 0.83)
17 %@% (GBS JHES S /N5 2/ 6 35.29 #% ( 0.65)
18 AKFf s Ty N =K /NG 3/ 8 35.45 65% ( 0.74)
19 =5 KFH R PANVZ | /NG 3/ 7 35. 61 65% ( 0.72)
20 1% = U ! 1/ 2 35. 63 8#% (0.80)
21 [LhH ﬁtﬁ!ﬁ RIS -} /NG 1/ 6 35.90 65% ( 0.71)
22 A Ty N =R ! 2/ 7 36. 06 7#%  ( 0.89)
23 TS RZE Ty N =K /N4 1/ 4 36.53 7% ( 0.66)
24 s eE Tx R =R /N3 1/ 3 36. 54 108% ( 0.59)
25 TR MEAN Ty N =R /N4 1/ 5 37.50 6%  ( 0.30)
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